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CHEMISTRY
THE IDEAL GAS (c)
PV =aRT Combined Gas Law
R=.0821 P1V1/T1 = PaVa/T2
T =Kelvin

1. What are the two forms of measuring gas pressure and what is the conversion between the two.
A

. r : ‘
i y"ﬁ( %MUF(R:} floly é fH@“{\z

Sulfur dioxide, a gas that plays a central role in the formation of acid rain, is found in the exhaust of
automobiles and power plants. Considera 1.53 L samnple of gaseous SO- at a pressure of 5.6 x 10°
mmHg. If the pressure is changed to 1.5 x 10* mmHg at a constant temperature, what will be the new
volume of the gas? Which law will be used in this question? .
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3. A sample of gas at 15°C and 1 atm has aﬁvoslume ‘éfz.m,.

What volume will this gas occupy at 38°C
and 1 atm? Which law will be used in this question? '
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254213 4. A sample of hydrogen gas has a volume of 8.56L at a temperature of 0°C and a pressure of 1.5 atm.
s 3 ! Calculate the moles of H, molecules present in this gas sample. N
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5. Suppoge" we have a sample of ammonia gas with a volume of 3.5 L at a pressure of 1.68 atm. The gas
is compressed to a volume of 1.35L at a constant temperature. Which gas law will be used in this
example and what is the final pressure? | T onse
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6. A 5 gsample of Methane (CHs) gas that has a volume of 3.8 L at 5° C is heated to 86°C at constant
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pressure of 2 atm. Calculate its new volume. N 2.5
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‘\?33 7. A sample containing.35 mol argon gas ata temperature of 13°C and a pre; 7mmHg,

Calculate the change in volume that occurs when the temperature increases to 23°C.
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L 8. A steel reaction vessel of a bomb calorimeter, which has a volume of 75.0mL, is charged with oxygen
gas to a pressure of 145 atm at 22°C. Calculate the moles of oxygen in the reaction vessel.
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